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Paper-V
CERY

INDIAN ECONOMY, GLOBLIZATION AND
SUSTAINABLE DEVELOPMENT

Instructions:

The question paper consists of five section. Each section carrying 40 marks. Section-I is compulsory and
contains twenty objective questions. Each carrying two marks (20x2=40). Sections-II to V contain two
optional long descriptive questions each. The candidate is required to answer one question from each
section.

Frdor:
e S UfE @uel § faued €1 Yt WU 40 3fhi @1 B1 @Ue-] St €, fEd -2 3Rl & 20
TS G € (20 x 2=40)1 @US-1I ¥ V H Joieh @UE | -3 dehfoush e Swd we €1 wdienfeiai
%l Y% @Ue H ¥ TH H S Al 2
SECTION-I
we-1
1. ARG R o e dei g G Go i T Sudl grl A S Hehal @ (20 x 2 = 40)

(1) S < =& AT

(1) ST 1 THM gfasfadr &1 s=HT

(1) € Y ATLIR i Hel HY

(1v) sifes faai @1 gTeeer &2

frefafed fosmedt & 9 W& S 4 ¢

(a) 13RI ORE I

(c) 3R IV (@ 13RIV

RBI can restrict credit creation by Commercial Banks by
(I) Increasing bank rate

(IT) Selling government securities to banks
(ITII) Reducing cash reserve requirements

(IV) Rediscounting more bills.

Choose the correct answer from the options below :

(a) Tand Il (b) Il and III
(c) Il and IV (d) Tand IV
2. HEIEHIT T HROT €
(a) S=4 T HT AT (b) @ gfg & @ ARG g w1 T T
(c) STfTEel § HiEAHh STHqeH (d) ST |+t

Inflation is due to
(a) Demand for higher incomes

(b) Rising demand not accompanied by rising supply
(c) Structural imbalances in the economy
(d) All of the above
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3. 9N H Hehel ] SR 1 Frefafed § 9 1 g9g 9= 1 2?2
(a) U =™ (b) fafwam ==
(c) fraid (d) Fmm

What among the following forms the larget components of GDP in India?
(a) Consumption expenditure

(b) Investment expenditure

(c) Export
(d) Import
4, ffafad & ¥ #F- 93 PAH 99 & @] T | wmira T g 82
(a) aEgA *1 Fafa @ A (b) Tarstl HIFAA TS ST H0T
(c) TFIRROT STAH (d) ferenl ® 35 ®=W
Which item among the following is not included in current account of of balance of payments?
(a) Export and import of goods (b) Export and import of services
(c) Transfer payments (d) Net borrowing from abroad.
5. oy wfufa-1 %t fgfe feas o =t 7 of?
(a) FfH & % Fur 2g (b) STEAfTF &= & For 2g
(c) 1 & % FuR ¥ (d) dfeT & F gur 27
Narsimham Committee-I was appointed for
(a) Agricultural sector reform (b) Industrial sector reform
(c) Insurance sector reform (d) Banking sector reform
6. F=1 o @ ford U RO T wHE S ©?
(a) Sttae sfar diferdt (b) SrEfRTeA TR diE
(c) wferer ffey (d) T S=E o
Which of the following is not considered as a national debt?
(a) LIC Policies (b) Long term government bonds
(c) Provident Fund (d) National Saving Certificates
7. qoft Ferwfor <ertan @

(@) Tt = =fw 4 gfg 2q fFn w0 =@ yere
(b) ISt & =i ® fodmee =9 # 9% 35 35
(c) AT W IAEA HT AfdH

(d) waa ifdes afgmfs w fean w=n ==

Capital formation denotes
(a) Flow of expenditure devoted to increase the capital stok

(b) Net addiion to capital stock after depreciation
(¢) Production exceeding demand

(d) Expenditure on Physical assets only

8. oM W WRd W Te] wed i A SfrEd <X @

(@) 15 ¥ 20% (b) 15 | 25%
(c) 25 ¥ 30% (d) 39 9 HiE T
The estimated average rate of domestic saving in India currently is in the range of
(a) 151t020% (b) 20to 25%
(c) 25t030% (d) None of these
)
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‘o wd sifues wumasht faewra #t R” = | @ fRw A 1 e an?
(a) e et Are

(b) THSA Gt A

(c) TIREE UHaHta A

(d) T ¥ *E T
Towards faster and more inclusive growth” was the goal of
(a) 9th Five Year Plan (b) 10th Five Year Plan
(¢) 11 th Five year Plan (d) None of these
10. 919 2016 H HDI H fovg & 188 <3 & <" wRA &1 T =1 A1?
(a) 130 (b) 131
(c) 132 (d) 133
What was the rank of India in HDI among 188 nations of the wold in the year 2016?
(a) 130 (b) 131
(c) 132 (d) 133
11. o enfefer fosrg fasft shear @
(a) w1, 7 f 5= (b) 5=@, 7 T frem
(c) =d ud fawr I (d) 7 @ ==a &l fraw
Sustainable economic development depends on
(a) Investment, not saving (b) Saving, not investment
(c) Both saving and investment (d) Neither saving nor investment
12. =M | 100% weael faceft faf@Em (FDI) &1 emafa fre &= o 7=t 22
(a) a&mm (b) Tt
(c) i (d) <
At present 100% FDI is not allowed in
(a) Defence (b) Drugs and Pharmaceuticals
(c) Banks (d) Insurance
13. 9RA 1 Held THR g 9S4 el eE | = °§ 9 frgen fewmn siferaq 22
(a) @rE RN (b) T 3T
(c) o srgem (d) weifeem e
Which one of the following gets maximum share in the total subsidy given by Central Government of
India?
(a) Food subsidy (b) Fertiliser subsidy
(c) Export subsidy (d) Petroleum subsidy
14. froet <o ® f=1 § 9 @ & § waifus FDI YR o et 22
(a) @ (b) e
(¢) T HR (d) @ FEEHT
In the last decade which sector has attracted the highest FDI in India?
(a) Fertiliser (b) Insurance
(c) Telecommunication (d) Food Processing
15. CSO BN ST’ fohd U U= 3T & AU SThel & STIR 2011-12 i HiAd W FHa GDPH HfY &1
fewdr 2013-14 9 =1 on?
(a) 12% (b) 15%
(c) 18% (d) T8 & =+ T
D
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According to new series of national income, released by the CSO at 2011-12 prices, the share of agriculture
in total GDP in 2013-14 was

(a) 12% (b) 15%

(c) 18% (d) None of these

IR tefereen & qreciRior i tef 7

(a) ToRw o oaEfas gwEal wnfad s

(b) 3T WfTEATIA & HTHAHH T TR

(c) 3T 33 & WY A Fay W =Aam o o @

(d) foeft =o1 # gfg @

Globalisation of Indian economy means
(a) Establishing business units aboard

(b) Giving up programmes of import substitutions
(c) Having minimum possible restriction on economic relation with other nations
(d) Stepping up external borrowing

ARES 1 fefaE H1 GEA HR 1 77

(a) B (b) S
(c) @™ (d) wfere
What is the main basis of economy of Jharkhand?
(a) Agriculture (b) Industry
(c) Mining (d) Transfer
108 JEgHiE A & SHR(q AN AEAN 5 TR@S T i fohal AR SEfed &1 T8 off?
(a) T 14,632 &g (b) T 24,850 HAE
(c) T 20,480 FIE (d) 39 9§ HE T
In 10" Five Year Plan, how much money had been allocated to Jharkhand State by Planning Commission?
(a) X 14, 632 crore (b) X 24, 850 crore
(c) X 20,480 crore (d) None of these
SEE & e § IR TR B Hed FRES % T S 9 87
(a) 11 af (b) 12 @f
(c) 13 af (d) 39 9 HiE T
From the view point of population, what is the rank of Jharkhand among Indian States?
(a) 11" (b) 12
(c) 13% (d) None of these
rEe ¥ e § wH-w &9 gaifus sk €2
(a) =T (b) B
(c) wmefrem (d) =
Which of the following area has the maximum forest cover in Jharkhand?
(a) Chatra (b) Hazaribagh
(c) Ghatshila (d) Ranchi

SECTION-II

G-I

A & A IR foRelt =R w1 S=T e foen # gu ufedy &t fawga ==t w0
Discuss in detail recent changes in composition and direction of India’s foreign trade.

)
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OR/3AYdT
AR FHY R fova AR Ted & 999 &1 fasga fae=m a3

Discuss in detail the impact of W.T.O on Indian agriculture.

SECTION-IIT
Q-1

FAgH T @ gren Atufem & fafa= gauE @ aviE st qeie e aw sfufg e e
T T W TR H FH HH B GERE B

Discuss various provisions in latest National Food Security Act. Show that the Act may reduce insecurity
among low income people.

OR/3AYT
‘e’ 1 Y =Y S 22 AR SAehe ISR TS wieifheh/eathen fen o gu enfelw gHEeH
= @ 22

How ‘inclusion’ is measured? Do Indian data show economic inclusion in employment and primary/
secondary education?

SECTION-1V
gs-1v
i guil & Foaishd & fod Y9 WIISUSl &l AN H (@A U WA SAfeaee W s gamal
HT STAEATHSE HIE i

In the light of the parameters used for assessing economic reforms, critically examine its impact on indian
economy.

OR/3AYT
qRd | T SR % <6l 1 GHien Hiful 38 e & @ TR gl SH-%hiH ¥ HeH I3 S
® 2
Examine the defects of agricultural marketing in India. What steps are being taken by the govt. to remove
them?

SECTION-V
We-V
HRES TR i oaqH SA@ifies =ifd i faa=m sifsw efies fHaw & see 3 % o, TR
BN 33T T Al HI THE FHife|

Discuss the present industrial policy of Jharkhand Government. Examine the steps undertaken by the
govt. to promote industrial development.

OR/3AY
PGS H FT &4 & T HE-YSIH & HRON hI GHIET SIS HT SART Td ScRhal i 394
g | 9 FE & ford gama <

Discuss the causes of poor performance of agricultural sector in Jharkhand. Suggest measures for achieving
a high growth rate of agricultural production and productivity.
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